
 

 

VOYAGER RACKS dot com 

 

 

Made for: Land Rover  

Model: Fits Range Rover L405 Short Wheel Base 

Part No:  VOYL405SWB (Low Pro, ORC) 

Thank you for your recent purchase!   

 

The following is needed to install your new Voyager Rack: 

 

- Box knife 

- Plastic Pry-Tool/Plastic Cats Paw 

- 14mm Wrench/ Ratchet and Socket, 10mm wrench/socket 

 

INCLUDED: 

4 front and rear brackets 

2 middle brackets  

6- M6 x 1.0 Bolts, 6 Flat Fender Washers (Hold Bracket to Vehicle) 

8- 3/8 x1.0 Bolts, 8 3/8 Locknuts, 16 washers (Hold Rack to Brackets) 

Step 1:  Remove stock rubber/aluminum rails or stock rails.  OPTIONAL: Install rack and center, hold roof trim next to 

hardware, drill hole in trim to poke M6 x 1.0 bolt through trim (unbolt hardware to roof, lift, reinstall trim.)  NOTE: 

HARDWARE WITH 2 HOLES GOES IN MIDDLE FOOT. 

Step 2:  Center rack on hardware, loosely start 3/8 hardware. 

Step 3:  Quickly add a bolt with washer through rack hardware on top and nut with washer on bottom of hardware. 

Step 4:  Center Rack, Snug Bolts until rack does not move, and no air gap can be seen between hardware and rack. 

 

If you have any questions, or need assistance, please 

email SALES@VOYAGEROFFROAD.COM or call/text:  

+1 844-NAS-RACK  

Thank you for your purchase! 

-Voyager 

    SAFETY TIP:  CHECK YOUR HARDWARE AFTER EACH VOYAGE. 

mailto:SALES@VOYAGEROFFROAD.COM

